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QUESTION 1

DRAG DROP

Drag and drop the virtual components from the left onto their deceptions on the right.

Select and Place:

Correct Answer:

 

QUESTION 2

Which router is elected the IGMP Querier when more than one router is in the same LAN segment? 

A. The router with the shortest uptime 

B. The router with the lowest IP address 

C. The router with the highest IP address 

D. The router with the longest uptime 
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Correct Answer: B 

Query messages are used to elect the IGMP querier as follows: 1. When IGMPv2 devices start, they each multicast a
general query message to the all-systems group address of 224.0.0.1 with their interface address in the source IP
address 

field of the message. 2. When an IGMPv2 device receives a general query message, the device compares the source
IP address in the message with its own interface address. The device with the lowest IP address on the subnet is
elected 

the IGMP querier. 3. All devices (excluding the querier) start the query timer, which is reset whenever a general query
message is received from the IGMP querier. If the query timer expires, it is assumed that the IGMP querier has gone
down, 

and the election process is performed again to elect a new IGMP querier. 

Reference: 

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3750x_3560x/software/release/15-2_2_e/multicast/configura
tion_guide/b_mc_1522e_3750x_3560x_cg/b_ipmc_3750x_3560x_chapte r_01000.html 

 

QUESTION 3

In a campus network design, what are two benefits of using BFD for failure detection? (Choose two.) 

A. BFD speeds up routing convergence time. 

B. BFD is an efficient way to reduce memory and CPU usage. 

C. BFD provides fault tolerance by enabling multiple routers to appear as a single virtual router. 

D. BFD provides path failure detection in less than a second. 

E. BFD enables network peers to continue forwarding packets in the event of a restart. 

Correct Answer: AD 

 

QUESTION 4

Which virtualization component creates VMs and performs hardware abstraction that allows multiple VMs to run at the
same time? 

A. container 

B. Docker 

C. hypervisor 

D. rkt 

Correct Answer: C 
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QUESTION 5

Refer to the exhibit. 

What is the JSON syntax that is formed from the data? 

A. {Name: Bob Johnson, Age: 75, Alive: true, Favorite Foods: [Cereal, Mustard, Onions]} 

B. {"Name": "Bob Johnson", "Age": 75, "Alive": true, "Favorite Foods": ["Cereal", "Mustard", "Onions"]} 

C. {`Name\\': `Bob Johnson\\', `Age\\': 75, `Alive\\': True, `Favorite Foods\\': `Cereal\\', `Mustard\\', `Onions\\'} 

D. {"Name": "Bob Johnson", "Age": Seventyfive, "Alive": true, "Favorite Foods": ["Cereal", "Mustard", "Onions"]} 

Correct Answer: B 
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